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:    = 2π  12 2
π

= π =

             
.

4  2
π:  > 0           

4 2 24
π= + =
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(34  29  :  -2 ) 
----------------------------------------------
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=

−
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(29  26  :      -  ) 

----------------------------------------------

(  ) «1» -40

       + =    

:   

3

5
5 1 15 35 1 3 2
3 2 15 10

×

×

− ⎯⎯→ −
− + =

+ ⎯⎯→ +
 

⎯⎯⎯→ 13 = 1    13  ®òIÿU 

         15  13   

   .  = 1         

        = 13        

:     

13 13 13 133
3 13 13 2 0 3 2 24 8÷

=
+ ≡ ≡ − ≡ ⎯⎯⎯⎯→ ≡

= 13 + 8 ∈

10≤ ≤ 99 10≤ 13 + 8 ≤ 99 2 ≤ 13 ≤ 91

1 7∈⎯⎯⎯→ ≤ ≤ 

90− 7 = 83         = 13     7   

.          = 1    

(29  26  :      -  ) 

 

http://forum.konkur.in/
http://konkur.in/


«1402  17 »     11 

 
(  )  «2» -41

     4    9 × 9 × 8× 7 = 81×56

:     7000        

1 8 7 4 4 567
1 8 7 5 5 56 13 568
1 8 7 4 4 569

+

× × × = ×

× × × = × ⎯⎯→ ×

× × × = ×

jkø

jkø

jkø

 

13 56 13
81 56 81

×= =
×

 

(46  44  :  -   ) 

----------------------------------------------

(  )  «4» -42

 (      )       

:    

ÁIÀ JIhTºH

 

4 1 4
7 2112

×= =
×

 

(56  52  :  -   ) 

----------------------------------------------

(  )  «2» -43

 

      ∧   ∧

      

 
    

    

     

       1       2   

 1
2. =
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----------------------------------------------
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----------------------------------------------
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